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According to this figure, which statement is correct about the IPv6 routing information calculated by the R4 router

through 1S-1S?

Public Routing Table:IS15
Summoary Count?
Destination
NextHop FEE0:-2E0:FCFF-FEDR2576
Cost

Interface GigabitE themetO/'O0

Destination
NextHopPEERC ZeOFC-FFEA *813

Cost 10
Destination
NextHop : FE80::2E0:FCFF:FE98i2576

Cost

Destination -

PrefixLength : 0
NexiHop : FEBO 2E0:FCFF.FEAT:5813
Cost

interface GigabitEthermetO/O/1

A. day4havelstriplS-ISdefault route

B. R4have2equivalentlS-ISdefault route

C. R4have2not equivalentlS-ISdefault route
D. R4withoutlS-ISrouting entry for

Correct Answer: B

PrefixLength: (0
Preference 13

Protocel - IS/5-LT

PrefixLengti 0

Preference: 15

Protocel : ISTS-L1

Preference - 13

Protocol : IS5-L [
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QUESTION 2

In the multi-level RR scenario, a large number of secondary RRs will be connected to the primary RR, which may lead
to BGP of the primary RR. The routing table overflows, what method can be used to reduce the risk of overflowing the
routing table of the advanced RR BGP?

A. ORF

B. route aggregation

C. routing control

D. set the sameCluster-ID

Correct Answer: B

QUESTION 3

Which of the following BGP routing attributes cannot control BGP routing?
A. MED

B. AS Path

C. Community

D. Originator ID

Correct Answer: C

QUESTION 4
Which of the following information can the DHCP binding table contain?
A. port andUDPport

B. MA, Caddress

C. IPaddress

D. lease time

Correct Answer: BCD

QUESTION 5

Which of the following regular expressions can match only BGP routes that pass through AS200 and then through
AS300 eyes?

A. 200$|300$
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B. A200|A300
C. (200 300)_
D. _[200 300]

Correct Answer: C
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